

$$Z = 2h \frac{x}{c} \left( \frac{1}{2} - \frac{x}{c} \right), \quad \frac{dZ}{dx} = 2 \frac{h}{c} \left( \frac{1}{2} - 2 \frac{x}{c} \right) = 2 \frac{h}{c} \left( \frac{1}{2} - (1 - \cos\theta) \right) = 2 \frac{h}{c} \left( \cos\theta - \frac{1}{2} \right)$$

$$a) \quad \boxed{A_0 = \alpha - \frac{1}{\pi} \int_0^\pi \frac{dZ}{dx} d\theta = \alpha - \frac{1}{\pi} \int_0^\pi 2 \frac{h}{c} \left( \cos\theta - \frac{1}{2} \right) d\theta = \alpha + \frac{h}{c}}$$

$$\boxed{A_1 = \frac{2}{\pi} \int_0^\pi \frac{dZ}{dx} \cos\theta d\theta = \frac{2}{\pi} \int_0^\pi 2 \frac{h}{c} \left( \cos^2\theta - \frac{1}{2} \cos\theta \right) d\theta = 2 \frac{h}{c}}$$

$$\boxed{A_2 = \frac{2}{\pi} \int_0^\pi \frac{dZ}{dx} \cos 2\theta d\theta = \frac{2}{\pi} \int_0^\pi 2 \frac{h}{c} \left( \cos\theta - \frac{1}{2} \right) \cos 2\theta d\theta = 0}$$

$$\boxed{A_3 = A_4 = \dots = 0}$$

$$b) \quad \boxed{C_e = 2\pi [A_0 + \frac{1}{2}A_1] = 2\pi \left[ \alpha + 2 \frac{h}{c} \right]}$$

$$\boxed{C_{m/4} = \frac{\pi}{4} (A_2 - A_1) = -\frac{\pi}{2} \frac{h}{c}}$$

$$c) \quad C_e = 2\pi [\alpha - \alpha_{L=0}] = 2\pi \left[ \alpha + 2 \frac{h}{c} \right]$$

$$\boxed{\alpha_{L=0} = -2 \frac{h}{c}}$$

15

10

5